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KALAIMAGAL MATRIC HIGHER SECONDARY SCHOOL, MOHANUR.

STD :XI MATHEMATICS MARKS: 50
DATE: ONE MARK TEST-VI (BB FULLY) TIME: 30 min
Choose the correct answer: 50x1=50
1. Let X={1,2,3,4}, Y={ab,cd}and f={(1,a),4,b), (2,c),3,d), (2,d)}. Then fis
1) an one —to —one function 2) an onto function
3) a function which is not one — to — one 4) not a function
2. Letf:R— R be defined by f(x) = 1—|x|.Then the range of f is
DR 2) (1,0) 3) (—1,) 4) (—o0,1]
3. The equation whose roots are numerically equal but opposite in sign to the roots of 3x?—5x —7 =0 is
1) 3x*—5x — 7 =0 2)3x*+5x —7 =0
3)3x*—5x +7 =0 4)3x% +x — 7
4. If a and b are the real roots of the equation x*—kx+ ¢ = 0, then the distance between the points ( a, 0) and
(b, 0) is
1) Vk? —4c 2) Vak? —c 3)V4c — k2 4) Jk—8c
5 If 1-2x . A + B , then the value of A+ B is
3+2x—-x- 3-X x+1
-1 -2 1
1) > 2) 3 3) > 4) —
6. Thevalue of log, 11.log,,13.log,; 15.log 527 . log,, 81 is
1 2)2 3)3 4)4
7. Inatriangle ABC,sin?A +sin? B + sin?C= 2, then the triangle is
1) equilateral triangle 2) isosceles triangle
3) right triangle 4) scalene triangle
8. COS6X +6c0s4x +15c082x +10 is equal to
€0S5x +5c0s3x +10cosx
1) cos 2x 2) cos X 3) cos 3 x 4) 2cos x
9. A wheel is spinning at 2 radians/ second . How many seconds will it take to make 10 complete revolutions?
1) 10x seconds 2) 207 seconds 3) 5n seconds 4) 157 seconds
10. Ina AABC, if i) singsin gsin % >0 ii) sinA sinB sinC > 0 then
1) Both (i) and (ii) are true 2) Only (i) is true
3) Only (ii) is true 4) Neither (i) nor (ii) is true
11. The number of 10 digit number that can be written by using the digits 2 and 3 is
1) 1°C, +°C, 2) 210 3)20 -2 4)10!
12. The product of first n odd natural numbers equals
1) 2"C, x " Py 2) (%)n X 2Cph X "Py 3) (%)nx Ch X 2P, 4) "Chx "Py
13, 143+ 5+ 7+......... +17 is equal to
1) 101 2) 81 3)71 4) 61
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The sum up to n terms of the series \/E + \/g + \/E + \/3_2 +onnnns is
n(n+1)

n(n+1)
1) —~ 2) 2n(n+1) 3) 4)1
2 V2
The sum of an infinite GP is 18. If the first term is 6, the common ratio is
1 2 1 3
1) = 2) — 3) = 4) =
) 3 ) 3 ) 5 ) 1
The value of£+l+i+ ........ IS
21 4 6l
2 2 _1\2 2
1) e“+1 2) (e+1) 3) (e-1) 2) e -1
2e 2e 2e 2e
2 3
The value of 1—l 2j+1(3 _12 +onnn is
2\3) 3\3 4\ 3
5 3 5 5 5 2 2
1) log | = 2) —log| = 3) —=log| = 4) —log| =
yiog 3] HoH ) g3 ) 2iog( 2]
If one of the lines given by  6x* — xy + 4cy? = 0 is 3x+ 4y =0 then ¢ equals to
5 1
1)-3 2)-1 3) — 4) =
) ) ) 9 ) 9
The equation of one the line represented by the equation x>+ 2xy cot0—y? =0 is
1)x—ycot6 =0 2) x+ytan6=0
3) xcosO +y (sin6 + 1)=0 4) xsin® +vy (cosO+ 1) =0
If A is skew symmetric of order n and C is a column matrix of order n x 1, then CT AC is
1) an identity matrix of order n 2) an identity matrix of order 1
3) a zero matrix of order 1 4) an identity matrix of order 2
3 -
If A+l = {4 1 } then (A+ I)(A-1) is equal to

-5 -4 -5 4 5 4 -5 -4
1) 2) 3) 4)

8 -9 -8 9 8 9 -8 -9
If (1,2,4) and ( 2, — 3. — 3) are the initial and terminal points of the vector f+5j —7k ,then the value of X is
equal to

7 7 5} 5}
1) ~ 2) -~ c) 4 =
)3 ) 2 ) 3 )3
Ifa:f+j°+I2, b:2f+xj+lz,6:f—j°+4lz and a.(bxC) =70, thenx isequal to
15 2)7 3) 26 4)10

lim . _
The value of _X —LXJ, where K is an integer is
X —>K

1)-1 2)1 3)0 4)2
] X, X Is irrational .
Let f: R—R be defined by f(x) = ) . then f is
1-x, xis rational
1) discontinuous at x =% 2) continuous at x =%
3) continuous every where 4) discontinuous every where

Let f be a continuous function on [ 2, 5] . If f takes only rational for all x and f (3) =12, then f ( 4. 5) is equal to

(@+1@45) 4, 3175 PRICORIE)

1)
7.5 15
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If f(x)={XJrl when X<2,thef'(2) is
2x—-1 when x>2

1O 2)1 3)2 4) does not exist
X+2 —-1<x<3

Iff(x)=+ 5 Xx=3 ,thenatx=3,f (x)is
8—X X>3

N1 2)-1 3)0 4) does not exist

2a—-x for —-a<x<a ) o
If f(x) = , then which one of the following is true?
3x—2a for X>a

1) f(x) is not differentiable at x =a 2) f (x) is discontinuous at x = a

3) f (x) is continuous for all x inR 4) f(x) is differentiable forall x >a

Ie*” sin5x dx is

—7Xx —7X
1) € [-7sin5x — 5cos5x]+c 2) € [7sin5x + 5cos5x]+c
74 74
e—?x e—?x
3) [7sin5x — 5cos5x]+c 4) [-7sin5x +5c0s5x]+C
74 74
I X+2 dxis
Vx? -1
1) Vx? —1—2Iog‘x+\/x2 —1‘+c 2) sint x—2|og‘x+\/x2 —1‘+c
3) 2Iog‘x+\/x2 —1‘—sin1 X+C 4) \/x? —1+2Iog‘x+\/x2 —1‘+c
Isin Jxdxis
1)2(—\/;003 \/;+sinx/;)+c 2)2(—\/;003 \/;—sinx/;)+c
3)2(—&sin \/;—COS\/;HC 4)2(—&sin \/;+COS\/;)+C

There are three events A, B and C of which one and only one can happen. If the odds are 7 to 4 against A and
5 to 3 against B, then odds against C is

1) 23: 65 2) 65: 23 3) 23: 88 4) 88: 23

It is given that the events A and B are such that P(A) = % P(A/B)= % and P(B/A) =§ . Then P(B) is
1 1 2 1

1) = 2) = 3) = 4) =

) 6 ) 3 ) 3 ) 2

Ten coins are tossed. The probability of getting atlesat 8 heads is

T ' 5 L by L
64 32 16 128

The relation R defined onaset A= {0, -1, 1, 2} by xRy if ‘xz + yz‘ <2, then which one of the following is
true?
1) R={(0,0).(0,-1),(0,1),(-1,0),(-1,1), (1.2) ,(1,0)
2) R™*={(0,0),(0,~1),(0,1),(~1,0),(1,0) }
3) DomainofRis {0, —-1,1,2}
4) 4)RangeofR is{0, -1, 1}
X—2
If u >0, then x belongs to
X—2
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X
The maximum value of 4sin? x + 3 cos? x + sin— 5 +C0S — 5 IS

1) 4+ 42 2)3+ 2 3)9 44
The number of 5 digit numbers all digits of which are odd is
1) 25 2)5° 3) 58 4) 625
The coefficient of x®y 2 in the expansion of (2x + 3y) 2 is
1)0 2) 28 312 3) 28 312+ 212 38 4) 2Cg 28312
X2 2
If the point (8, —5) lies on the locus T —;—5 =k, then the value of k is
10 2)1 3)2 4)3
. . 1 2 13 8
What must be the matrix X, if 2X +
3 4| |7 2

1 3 1 -3 2 6 2 -6
1) 2) 3) 4)

2 - 2 -1 4 -2 4 -2
The unit vector parallel to the resultant of the vectors I ] j Kand i —2 j +Kis

i—j+k 2i+] —j+k 2i—]
1) 2) ) 4) —=
J5 NG f J5
lim sinyo

0 —>0+/sin0
1 2)-1 3)0 4)2
If f (x) = x2— 3x, then the points at which f(x) = f (x) are
1) both positive integers 2) both negative integers
3) both irrational 4) one rational and another irrational
If I f (x)dx = g(x )+c, then _[ f(x)g (x)dx
1) [(F(x))*dx 2) [fOOgmdx  3) [F(x) gk dx 4 [(g()) dx

2
The gradient (slope ) of a curve at any point (X, y) is X

. If the curve passes through the point (2,7) , then

the equation of the curve is
4 4 , )
1)y=X+—+3 2)y=X+—+4 3)y=x+3x+4 4) y=x*— 3x +6
X X
A, B and C try to hit a target simultaneously but independently. Their respective probabilities of hitting the
5
. The probability that the target is hit by A or B but not by C is

targetare —, —, —
4°2'8
21 7 9 7
1) o 2) e 3) o 4) 3
If A and B are any two events, then the probability that exactly one of them occur is
1)P(AUB )+P(AUB) 2) P(ANB ) +P(ANB)
3) P(A) + P(B) -P(AMB) 4) P(A) + P(B) +2P( AN B)

If BA = 3i + 2] +K and the position vector of B is i +3] —K , then the position vector A is
1)4f +2]+K 2) 4i +5] 3) 4 4) - 4

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

